MIT Integration Bee: Semifinals
(Time limit per integral: 4 minutes)



Semifinal #1 Problem 1

o0 3
/O ﬁdx

1+ x2




Semifinal #1 Problem 1

o0 3
/0 VX dx =

1+ x2

ks




Semifinal #1 Problem 2

/ﬂ 10g(82+2 (Cos(x)\/81—sin2(x)—sin2(x))> dx

— 7T



Semifinal #1 Problem 2

/_ﬂn log (82—|—2 (Cos(x) \/81 —sin?(x) —Sinz(x)) ) dx
= 27t log(80)




Semifinal #1 Problem 3

/(Sx2 +7x —5) <x + %) et dx



Semifinal #1 Problem 3

/(3x2 +7x —5) (x + %) ¥ dx

= (3x3 —2x* + 5x)ex+%




Semifinal #1 Problem 4

(0,0)
/ * dx
0 e*X+1




Semifinal #1 Problem 4

o) % 71.2
/ dx = |—
0 e2X 1 8




MIT Integration Bee: Semifinal Tiebreakers
(Time limit per integral: 4 minutes)



Semifinal Tiebreakers Problem 1
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